

5/16(7)

Right Parser  
Deterministic Parser

Left Parser  
Produce-shift Parser  
guess verify

Right Parser  $\subseteq LR(0) \subseteq SLR(k) \subseteq LALR(k) \subseteq LR(k)$

제3의 풀기  
알빈 토플러  
1980

shift-reduce (store & verify)

Parser (PDT) vs Grammar (cfg, lm/ltm)

$\theta \in \Sigma^*$

$x \in \Sigma^*$

$\pi \in P^*$

produce(guess)  $\pi \neq \text{rep}$

shift(verify)  $\pi(s) = \epsilon$

$$|\theta| = |\pi| + |x|$$

produce shift

Thm 5.16 produce-shift parser is a left parser for G

Thm 5.4 shift-reduce " " a right parser for G

$A \rightarrow w \in P$	$A \mid \rightarrow w^R \in P$	$w \mid \rightarrow A \in P$	$\pi \mid \rightarrow A \rightarrow w \in P$
$a \in \Sigma$	$a \mid a \rightarrow \mid$	$\mid a \rightarrow a \mid$	$\pi \mid \rightarrow \epsilon$
	produce(guess)	reduce(verify)	
	shift(verify)	shift(store)	

$\$ S \mid x \$ \Rightarrow \theta_L \mid \$ \mid \$$

$S \xRightarrow{\pi_L} x$   
 $\tau(\theta) = \tau_L$   
 $|\theta| = |\pi| + |x|$   
produce shift

$\$ \mid x \$ \Rightarrow \theta_R \mid \$ \mid \$$

$S \xRightarrow{\pi_R} \epsilon$   
 $\tau(\theta) = \tau_R$   
 $|\theta| = |\pi| + |x|$   
produce shift

$E' \rightarrow E$  argument rule

$E \rightarrow E + T \mid T * F \mid P a \mid (E)$

$T \rightarrow - \mid T * F \mid a \mid (E)$

$F \rightarrow a \mid (E)$

Ex  $a + a * a, \sqcup \quad a \mid \$ \mid a_1 + a_2 * a_3 \mid \$$

$\uparrow \quad \downarrow \quad \downarrow \quad \downarrow$   
 $+ a * a, \sqcup \Rightarrow \$ a \mid + a * a \$$

$+ a * a, \sqcup \Rightarrow \$ E \mid + a * a \$$

$a * a, \sqcup \Rightarrow \$ E + \mid a * a \$$

$* a, \sqcup \Rightarrow \$ E + a \mid * a \$$

$* a, \sqcup \Rightarrow \$ E + T \mid * a \$$



reibsch normal form.

$$\begin{cases} A \rightarrow a\alpha \in P & a \in \Sigma, \alpha \in (N \cup \Sigma)^* \\ S \rightarrow \epsilon \end{cases}$$

$(N - \{S\} \cup \Sigma)^*$  → augmented rule  
 $S' \rightarrow S \in P$   
 new old start symbol

$$A \mid \rightarrow w^R \mid A \rightarrow w \in P \rightarrow A \mid a \rightarrow \alpha \mid a \mid A \rightarrow a \alpha \in P$$

$$a \mid a \rightarrow \mid a \in \Sigma \quad a \mid a \rightarrow \mid$$

A GNF → Simple (S) grammar **one symbol lookahead left parser**  
 $A \rightarrow \alpha \alpha_a \mid a \beta_a \in P \Rightarrow \alpha_a = \beta_a$

Simple grammar ... one symbol lookahead left parser is deterministic!



If  $k: yz \cap ky'z = \emptyset$ , then **SLL(k)** parser is deterministic.

$$A \mid x \rightarrow w^R \mid x \quad A \rightarrow w \in P$$

$$a \mid a \rightarrow \mid a \in \Sigma$$

$x \in \text{First}_k(w) \cup \text{Follow}_k(A)$   
 $y|y' \quad \text{First}_k(\beta)$

Def  $\text{First}_k(a) = \{a\} \quad a \in \Sigma$

$$\text{First}_k(A) = \text{First}_k(X_1) \cup \text{First}_k(X_2) \cup \dots \cup \text{First}_k(X_n)$$

$$\text{First}_k(\Sigma \cup N) \rightarrow \sum_{\leq k} \dots \cup \text{First}_k(X_n)$$

↓ Extension  
 $\text{First} : (N \cup \Sigma)^* \rightarrow \sum_{\leq k}$

$$\text{First}_k(\alpha) = \{k: x \in \Sigma \mid \alpha \Rightarrow^* x, x \in \Sigma^*\}$$

$$\in \Sigma^* = (\Sigma^0 \cup \Sigma^1 \cup \Sigma^2 \cup \dots \cup \Sigma^k)$$

$$= (\Sigma^{\leq k})$$

Def  $\oplus_k : \Sigma^* \times \Sigma^* \rightarrow \Sigma^{\leq k}$  (infix first<sub>k</sub> operator)

$x \oplus_k y = k : xy$   
 $x, y \in \Sigma^*$

$\text{First}_k(X_1 \oplus_k X_2 \dots \oplus_k X_n) = \text{First}_k(X_1) \oplus_k \text{First}_k(X_2) \oplus_k \dots \oplus_k \text{First}_k(X_n)$

Def  $\text{Follow}(A) = \{k : z \in \Sigma^{\leq k} \mid S \Rightarrow^* \alpha A z, \alpha \in (N \cup \Sigma)^*, z \in \Sigma^*\}$

$\xrightarrow{S \in E} A \rightarrow w \mid w' \in P$  If  $\text{First}_k(w) \oplus_k \text{Follow}_k(A) \cap \text{First}_k(w') \oplus_k \text{Follow}_k(A) = \emptyset$   
 Then G is SLL(k) grammar.

$\Leftrightarrow$  SLL(k) parser is deterministic.

Is  $G \rightarrow \begin{cases} E \rightarrow E T \mid T * F \mid a \mid (\epsilon) \\ F \rightarrow T * F \mid a \mid (\epsilon) \end{cases}$  SLL(k)? Ans) No!

24? Left Recursive.

$A \rightarrow A\alpha \mid \beta \quad \text{First}_k(A\alpha) \supseteq \text{First}_k(\beta) \quad (\because A \rightarrow \beta \in P)$   
 $\therefore \text{First}_k(A\alpha) \cap \text{First}_k(\beta) \neq \emptyset$

Removal of Left Recursion  
 (Left recursion  $\rightarrow$  right recursion)

$A \Rightarrow^* \beta^* \alpha \quad (A \Rightarrow A\alpha \Rightarrow A A \alpha \Rightarrow \dots \Rightarrow A^* \alpha \Rightarrow \beta^* \alpha)$

$A \rightarrow A' \alpha \quad \leftrightarrow \quad A \rightarrow A \beta \mid \epsilon \quad (X) - \text{left recursion}$

$A' \rightarrow \beta A' \mid \epsilon - \text{right recursion}$   
 $A' \Rightarrow^* \beta^*$

24? Gexp의 left recursion은 없다면 LL(1)인가?